UNIVERSITY OF KERALA

ENGINEERING UNIT

Tender Schedule for Electrification work in the computer lab of the Department of Library and Information science, University of Kerala

Sl. No	Item Description	Qty	Unit	Rate / Unit	Rate in Words	Amount
1	90.6.10.3 Supply and fixing of following sizes of light gauge PVC conduit along with accessories in surface/ recess including cutting the wall and making good the same in case of recessed conduit as required32 mm	15	М	101.03	Rupees One Hundred and One and Zero Three Paise only	1515.45
2	1.17.3 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 X 1.5 sq.mm	50	М	68.97	Rupees Sixty Eight and Nine Seven Paise Only	3448.50
3	1.17.12 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 x 2.5 sq. mm	200	Μ	103.45	One Hundred and Three and Four Five Paise Only	20690.00
4	90.9.2.1 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.100 x 50 mm CMS withbase and lid	25	M	1000.21	Rupees Thousand and Two One Paise Only	25005.25

5	90.9.2.2 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.Cable devider	25	М	121.07	Rupees One Hundred and Twenty One and Zero Seven Paise Only	3026.75
6	90.9.2.3 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.External angle 90 degree	4	E	241.07	Rupees Two Hundred and Forty One and Zero Seven Paise Only	964.28
7	90.9.2.5 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.Internal angle 90 degree	4	Е	241.07	Rupees Two Hundred and Forty One and Zero Seven Paise Only	964.28
8	90.9.2.8 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting thewall and making good the damages in case of recessed installation as required.End cap	4	E	132.07	Rupees One Hundred and Thirty Two and Zero Seven Paise Only	528.28

9	90.9.2.10					
	Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 &	8	E	102.07	Rupees One Hundred and Two and Zero Seven	816.56
	4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required. Joint cover	J	_	102107	Paise Only	010.50
10	90.9.2.12					
	Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with the following accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.1 to 3 module mounting box	2	E	159.86	Rupees One Hundred and Fifty Nine and Eight Six Paise Only	319.72
11	90.10.1.5					
	Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as	1	E	247.00	Rupees Two Hundred and Forty Seven Only	247.00
	required (RoHS compliant)6 module					
10	moulded plastic box on surface					
	90.9.2.14 Supply and fixing 100 x 50 mm PVC Cable Management System with base and lid along with thefollowing accessories conforming to IEC 61084/ BS 476 & 4678 on surface / recess including cutting the wall and making good the damages in case of recessed installation as required.8 module mounting box	25	Е	259.86	Rupees Two Hundred and Fifty Nine and Eight Six Only	6496.50
13	1.28.2 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. as required.3 Module	2	E	125.52	Rupees One Hundred Twenty Five and Five Two Paise Only	251.04

4.6	1 20 1					
14	1.28.4 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. as required.6 Module	1	E	173.79	Rupees One Hundred and Seventy Three and Seven Nine Paise Only	173.79
15	1.28.5					
	Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. as required.8 Module	25	E	208.27	Rupees Two Hundred and Eight and Two Seven Paise Only	5206.75
16	1.24.1					
	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.5/6 amps switch	51	Е	115.86	Rupees One Hundred and Fifteen and Eight Six Paise Only	5908.86
17	1.24.3					
	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.15/16 amp switch	3	E	157.24	Rupees One Hundred nad Fifty Seven and Two Four Paise Only	471.72
18	1.24.4					
	Supplying and fixing following modular switch/socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.3 pin 5/6 amp socket outlet	76	E	111.72	Rupees One hUndred and Eleven and Seven Two Paise Only	8490.72
19	1.24.5					
	Supplying and fixing following modular switch/socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.6 pin 15/16 amp socket outlet	3	Е	211.03	Rupees Two Hundred and Eleven and Zero Three Paise Only	633.09

20	90.3.10 Supplying and providing extra H.G conduit down rod of 19 mm dia 2 x 1.00 m long with 16/0.20 mm 3 core copper conductor flex wire conforming to relevant ISS or with the extended original wiring and giving connection etc. as required.	1	E	281.27	Rupees Two Hundred nad Eighty One and Two Seven Paise Only	281.27
21	90.3.24.4 Supply & installation of light fittings suspended on ball & socket arrangement with 19 mm down rod rod rod supply, conveyance, installation, testing and commissioning the light fittings of following types made of .5mm thick CRCA sheet accessories and lamps etc. including supplying and fixing ball and socket arrangements on PVC round block, suspension down rod of 19mm dia MS conduit up to 2x30cm length including painting and wiring the down rod with 16/0.20mm 3 core round copper conductor flex wire conforming to relevant ISS or extending the original wiring and giving connections etc. a required.1200 mm 2X20W LED Lamp with box type fixture	1	E	2015.79	Rupees Two Thousand Fifteen and Seven Nine Paise Only	2015.79
	TOTAL					87455.60
	Rounded to					87456.00

PAC Rs87,456.00 (Rupees Eighty Seven Thousand Four Hundred and Fifty Six Only)

CONTRACTOR

I/We agreed to execute the work	
at Below estimate rate	at estimate rate
at .	Above estimate rate
	sd/-

UNIVERSITY ENGINEER